>

| >
;about keyword parameters
> top:=proc(x,{thing:=2})
print("you gave me x=",x,"and thing is",thing);

| end:
> top(3);
i "you gave me x=", 3, "and thing is", 2 1)
> top(4, thing =rabbit);
"you gave me x=", 4, "and thing is", rabbit 2

> mid:=proc(y,{thing:=2})
print("you gave mid y=",y,"and thing is",thing);
end:
> othertop:=proc(x,{thing:=2})
print("you gave me x=",x,"and thing is",thing);
print("what does mid get?");
mid(x);
end:
> othertop(3);
"you gave me x=", 3, "and thing is", 2
"what does mid get?"
"you gave mid y=", 3, "and thing is", 2 3
> othertop(3, thing=15);
"you gave me x=", 3, "and thing is", 5
"what does mid get?"
"you gave mid y=", 3, "and thing is", 2 4
> othertop :=proc(x, {thing == 2})
print("you gave me x=", x, "and thing is", thing);
print("what does mid get?");
mid (x, thing=15); # maple sees mid(x,72=5)
end:

> othertop(3, thing=7);
"you gave me x=", 3, "and thing is", 7
"what does mid get?"
"you gave mid y=", 3, "and thing is", 2 (5)
> debug(othertop); debug(mid);
othertop
i mid (6)
> othertop(3, thing=7); _
{--> enter othertop, args = 3, thing =7
"you gave me x=", 3, "and thing is", 7
"what does mid get?"
{--> enter mid, args = 3,7 =5
"you gave mid y=", 3, "and thing is", 2
<-- exit mid (now in othertop) = }
| <-- exit othertop (now at top level) =}




> othertop: —proc(x {thing :2})
print("you gave me x=",x,"and thing is",thing);
print("what does mid get?");
unassign('thing');
mid(x,thing=5);

end:
> debug(othertop); debug(mid); othertop(3, thing=7);
othertop
mid

{--> enter othertop, args = 3, thing =7
"you gave me x=", 3, "and thing is", 7
"what does mid get?"

<-- ERROR in othertop (now at top level) = cannot unassign
(argument must be assignable), 7}
Error, (in unassign) cannot unassign 7' (argument must be

assignable)
[> tip:=proc(x,{thing:=2})
print("you gave me x=",x,"and thing is",thing);
print("options has",_options);
print("_options['thing'] is ", _options['thing']);
print("what does mid get?");
mid(x);
| end:
> tip(3, thing = hello, thang = hoho);
"you gave me x=", 3, "and thing is", hello
"options has", thing = hello
_options['thing'] is ", thing = hello
"what does mid get?"
{--> enter mid, args = 3
"you gave mid y=", 3, "and thing is", 2
[ <-- exit mid (now in tip) =}
> tip ==proc(x, {thing == 2})
print("you gave me x=", x, "and thing is", thing);
print("options has", options);
print("_options['thing'] is ", options| 'thing']);
print("what does mid get?");
mid(x, options|'thing']);
end:

"

> 1ip(3, thing="yay");

"you gave me x=", 3, "and thing is", "yay"

"options has", thmg— "yay"

—n

_options['thing'] is ", thing ="yay"
"what does mid get?"
{--> enter mid, args = 3, thing = yay
"you gave mid y=", 3, "and thing is",
| <-- exit mid (now in tip) =}
> tap:=proc(x,{thing:=2})
print("you gave me x=",x,"and thing is",thing);

n

nn

yay"

%1’



print("options has", _options);
print("_options['thing'] is ", _options['thing']);
print("what does mid get?");
mid(x, 'thing'=7);
| end:
> tap(3);
"you gave me x=", 3, "and thing is", 2
"options has", thing =2
" options['thing'] is ", thing =2
"what does mid get?"
{--> enter mid, args = 3, 2 =7
"you gave mid y=", 3, "and thing is", 2
[ <-- exit mid (now in tap) =}
> tap:=proc(x,{thing:=2})
print("you gave me x=",x,"and thing is",thing);
print("options has", _options);
print("_options['thing'] is ", _options['thing']);
print("what does mid get?");
mid(x, ":-thing'=7);
| end:
> tap(3);
"you gave me x=", 3, "and thing is", 2
"options has", thing =2
" options['thing'] is ", thing =2
"what does mid get?"
{--> enter mid, args = 3, thing =7
"you gave mid y=", 3, "and thing is", 7
[<-- exit mid (now in tap) =}
| >
| >
> fact ==proc(n :: posint)
if (n=1) thenreturn(1); fi,
return(n-fact(n —1));

| end:
> fact(5);

120 ()
> debug( fact);

fact 8
> fact(5) ;
{--> enter fact, args = 5
{--> enter fact, args = 4
{--> enter fact, args = 3
{--> enter fact, args = 2
{--> enter fact, args =1
<-- exit fact (now in fact) = 1}
<-- exit fact (now in fact) = 2}
<-- exit fact (now in fact) = 6}
<-- exit fact (now in fact) = 24}

v

<-- exit fact (now at top le

)
120 9)



5 (10)

243 11)

400

> 3" " mod7

i 4 (12)

> 3400

70550791086553325712464271575934796216507949612787315762871223209262085551582\  (13)
93415657929852944713415815495233482535591186692979307182456669414508445453\

5257027960285323760313192443283334088001

=> 400 mod 6;
i 4 (14)
> nextprime(1234567);
i 1234577 (15)
> 51234576 1y 0d 1234577,

1 (16)

[ > nextprime(
ITTII1 I I eI e eIttt eI eaeeItIaeanTeanem
111111 e e e eI e et e ettt Ittt I raeanTam
ITI1I1 1111 eI eI eIt eaieaeataItaIeaaaanan
11111);
11111111121212122121212122121212112172121212217212121221212121721121212121121212\  (17)

11111111111112211212211221112221222121221212211221122212122212122112211227112223222N
11111111122121111122271111212222111212222711112122271111212227111122227111122227111122N
12551

> ifactor(
11111ttt eeaaaaasseaaaaaaaaan
11111ttt eaaaaaasaaaaIaamn
r11111111120112201112201121 LI IIIILIAILIIILLILIALLILILILLILON
1111);

Warning, computation interrupted

> 5" mod 10;

5 (18)
> 58711111111111111111111112111212111112111211111111111111121111111111111
111111111111111111111111111111111111111111111111111111111111111111
111111111111111111111111111111111111111111111111111111111111111111
1111111111111111111111111111111110 mod
111111111111111111111111111111111111111111111111111111111111111111
111111111111111111111111111111111111111111111111111111111111111111
111111111111111111111111111111111111111111111111111111111111111111




111111111111111111111111111111173;
70043937493756642396598490395351889756042194180597692415238887486225516819346\  (19)

17800490855494388483896279236966137751345593684227433745006998916016790997\
90064233638640260215108557091507344050218326646150377141125912480526405010\

| 5

_> 51111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111\

11111111111111211111111111111111111111 111 11112112111112112111111111111111111111111111111111111111111\
1111111111111111111111110

mod

IR NN RN AR AR AR R R R RN a NN NN an N e aaaaaaaeaaaaanantasiasnastasiistasirstasistttini
IR RN RN AR AR RN R RN RN RN RN RN RN RN e aaaaaaaaaasaanaasaasasaashistasarstastrstittini
I1111111111111111111111111111

Error, numeric exception: overflow
>




